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Question Number : 81 Question Id : 4509387121 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The length of the side of a cube is 1.2 x 107 m. Its volume up to correct significant figures is
28 a0 CBEY (98) 2hH20 &Pthe) 1.2 X 1072 m, TR N80 HOTDS 68
QOO HGH

Options :

1.732 x 107 % m?

’|_ )

1.73 x107%m?3
2. %

1.70 x 107% m?®
3. %

1.7 % 10" % m?
4.

Question Number : 82 Question Id : 4509387122 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The velocity of a particle is given by the equation v(x) = 3x? — 4x. where ‘x’ is the distance

covered by the particle. The expression for its acceleration is

SPTR)) AP, & 880 TR0, & 6690

Options :

(6x —4)
1. #®

6(3x% — 4x)
2. ®

(3x% — 4x) (6x — 4)

(6x — 4)?
4, %

Question Number : 83 Question Id : 4509387123 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The acceleration of a particle which moves along the positive x-axis vartes with its position as
shown in the figure. If the velocity of the particle is 0.8 ms™ at x = 0, then its velocity at x =
14mis(nms™)

e +©80 J0ad (Doirdos S0 Ay 5080, T @"éo@ B0 DS
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0.2
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Options :

1.6
1. %

|

1.4

0.8

Question Number : 84 Question Id : 4509387124 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The maximum height attained by projectile is increased by 10% by keeping the angle of projection
constant. What 1s the percentage merease m the time of flight?
8 15,2 590 9& 2.8 (D N80 DK (0 AR 10% DODS. TR (NOSPED

5005 R DOMHE T J0h?
Options :

5 %

Question Number : 85 Question Id : 4509387125 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A light body of momentum ‘P, and a heavy body of momentum ‘Py’. both have the same kinetic

energy. then
(3e553050 B 110) 2.8 BOS 5o OO By’ (950 i 2.8 278 e, Bochy
2.5 fi@edS 508 0t

Options :

P, > Py
1. %



Fy = B
2.

PL = PH

Always Py =2 P,

. DN Py =2 P,

Question Number : 86 Question Id : 4509387126 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A block of metal 4 kg 1s in rest on a frictionless surface, It was targeted by a jet releasing water of

2kg st ataspeed of 10 ms™ . The acceleration of the block is

4kg | 05:950°9 (10 2.8 S 5 rO} 0B &38800 2 AOVBS &35)0. TR
©% 0 DHR 2.8 2O 10ms™ HAS ER ) 2ke A N9 TN, &3
B & 3080

Options :

10 ms ™2
1. ®

15 ms ™2
2. ®

20 ms 2
3. %

5 ms 2

4.+



Question Number : 87 Question Id : 4509387127 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
; . ; . lgh
A person climbs up a conveyor belt with a constant acceleration. The speed of the belt is J% and

coefficient of friction is " The time taken by the person to reach from A to B with maximum
v

possible acceleration is

ISAS By 5000 BO 3 w8 358 DY B
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Options :
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Question Number : 88 Question Id : 4509387128 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A machme with efficiency 2/3 used 12 J of energy in lifting 2 kg block through certain height and

it is allowed to fall through the same. The velocity while it reach the ground is

23 B8 o 28 0HoBo 2 ke O FosdH) 28NG0S 12 T 45D
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Options :

v2ms™1

2ms1

242 ms™1

0.2ms™ !

Question Number : 89 Question Id : 4509387129 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A solid cylinder rolls down on an inclined plane of height ‘h’ and nclination ‘8”, The speed of the

cylinder at the bottom 15
0 e, 9 TS0 ) 2.8 Tende0 DO 28 0 A0 BT 18055

OB, TR0 OCDIDHLFT0 IO TR G

Options :
gh
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3gh
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2. %
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Question Number : 90 Question Id : 4509387130 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Three particles of each mass ‘m’” are kept at the three vertices of an equilateral triangle of side °I".
The moment of mertia of system of the particles about any side of the triangle is

2528283 ‘m (035078 110 SR SETON T 2D 1) 28 Debera |83ehe0
ST AT SO G0, (B2HB0 G a8 B0 Ggars Lo S50 TN,

208658 (27050
Options :
ml?
1. % %
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2. %
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2
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Question Number : 91 Question Id : 4509387131 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In a spring block system as shown in figure. if the spring constant K = 9n*Nm ™", then the time

period of oscillation 1s
2,5 |20)00-030 5559 Y ETIRASE. 1900 D080, K Denad 9nNm ™ e

900 B3SO DN

K
3ke ke
K
K
Options :
15
1.4
3.14s
®
1414 s
3.
4 % 0.5s

Question Number : 92 Question Id : 4509387132 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Abody 1s executing simple harmonic motion. At a displacement ‘%' its potential energy 1s Ey and at

a displacement 'y’ its potential energy is E,. The potential energy E at a displacement (x +y) is

W

2,8 50053 MO T8 0S50S D5) 8. TS|odan ¥ SO o Ve 45 E,
SO THL0T ¥ IO TR VBB 48 E, oS 8 Sy aPodan

(x+y) 90 T 0HOCH Pe3B 45 E Dena).

Options :



WFE: \'IIIEI- o ""u"II Ez
1. %

*'n,IE: I'E1+ 'E_E
2.9

E=E,—Ej
3. %

E=E, +E,
4, %

Question Number : 93 Question Id : 4509387133 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A particle 15 projected from the surface of the earth with a velocity equal to twice the escape

velocity. When particle is very far from the earth. its speed would be.

2,8 8800 P00 3 2890 S BEos) Fod D8 20 TahadSd.
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Options :
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Question Number : 94 Question Id : 4509387134 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A 4 kg stone attached at the end of a steel wire is being whirled at a constant speed 12 ms ™' in a

horizontal circle. The wire is 4 m long with a diameter 2.0 mm and young’s modules of the steel

is 2 X 10™ Nm ™2 The strain in the wire is.

tm A HOOW 20mm 0 HDS ?\Jt?_l) & DIO 2P 4 ke © T°ON
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Question Number : 95 Question Id : 4509387135 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A spherical ball of radius 1 x 10™* m and of density 10* kgm™ falls freely under gravity through
a distance 'h’ before entering a tank of water. After entering water if the velocity of the ball does
not change, then '’ is

(The coefficient of viscosity of water 9.8 x 107° Nsm™2)

1% 1074 m a75Rrdeln. 104 kgm™® RPo|cied fex AYH08 Hher ;58 we0 id
DT R0 N G0 (8008 S s, 2.8 O SVSE IS0, Ve
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Options:

204 em
1. %

20.4 mm
2. ®

204 m
3. v

10.2 m
4, %

Question Number : 96 Question Id : 4509387136 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A metal block 1s made from a mixture of 2.4 kg of aluminium. 1.6 kg of brass and 0.8 kg of copper.
The metal block 1s mitially at 20° ¢. If the heat supplied to the metal block is 44.4 calories. find
the fmal temperature of the block if specific heats of aluminium, brass and copper are

0.216,0.0917, 00931 cal. ke *C " respectively.

2,8 37 B0 2.4 kg 05HAAN0, 1.6 kg ABG SHOOKN 0.8 kg T (Feeine
Soirch TaaGod. Sam) O SO &eilie 20°C. & 6P 444 50
G35 B0, Q0] 06 EF|Ted DeN. @ENIMA0N0. BB, T © PPl

2NN IR 0.216,0.0917,0.0931 cal. ke~ 2eC
Options :

100 °C
1. %

60 °C

40 °C

80 °C

Question Number : 97 Question Id : 4509387137 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



3
An ideal gas is found to obey PV2 = constant during an adiabatic process. If such a gas initially

th
W 1 . : .
at a temperature T 15 adiabatically compressed to 3 of its volume. then its final temperature s

2 w6 o RS NS e=ddo e
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Options :

Question Number : 98 Question Id : 4509387138 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The condition dw = dg holds good in the following process

180 BenHDAS 1DBADES dw = dg D22s0MH S

Options :



Adiabatic process

e D0R DA
Isothermal process
S v Do) Bel(TeF ((8TD
Isochoric process
2ok a0 8:57°Ed (50
3. %
Isobaric process
D330 DS (DBAH
4. % -

Question Number : 99 Question Id : 4509387139 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The efficiency of a Carnot engine found to increase from 25% to 40% on mcreasing the temperature

(T1) of source alone through 100 K. The temperature (T2) of the sink is given by
B850 T8, G0 SPB 100 K D0 50) ) ahoiedo ThE;
(5% 8 25% DO 40% o555 DBASA, e VO (To) T}, ceal|fed
Options :
300K

1.4

250K
2. #®



325K

125 K

Question Number : 100 Question Id : 4509387140 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Match the following (f 1s number of degrees of freedom)

Gases 2 value
Cy
A | Monoatomic I 4+f
341
B Diatomic (rigid) II 5/3
C Diatomic (non-rigid) III 7/5
D | Polyatomic IV 9/7
1B0ATER 283008 (f- 057000 H0DS)
00y 2 dend
A | EESTED I !
34f
B | &geiren (1G0¢0) I 5/3
C | &saddren (odosdd) |1 7/5
D | 2703 v 9/7
Options :
A-III B-IV C-I D-II



A-II B-I C-III D-IV

A-IV B-III C-1 D-11

A-IT B-III C-IV D-I

Question Number : 101 Question Id : 4509387141 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

When a wave enters into a rarer medium from a denser medium, the property of the wave which

remains constant 1s
2,8 SE0ME) FOOBE OFIEa DO DT AFSESNSE (HRF0DSI.

G0N0 CRNE) STEHOT YO GO (3800

Options :
Wavelength
- SO0N TR 50
Frequency
T e
- ST020d) e § o)
Velocity
5a30
3. %



Amplitude
0D DB

Question Number : 102 Question Id : 4509387142 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The focal length of the objective lens of a telescope 1s 30 cm and that of 1ts eye lens 1s 3 cm. It is
focussed on a scale at a distance 2 m from it. The distance of objective lens from eye lens to see
the clear image 1s

2.8 rBE0R 500 8880 255065650 30 em aNBAN F(ed §E180 5060 3 em.
& TS0y 2 m Grdein H& o 28 Vo0 S0|05)H0 DoHGRSR. B0
D)ADN (D8N0 g, JS FOLM oD SN E%R
€50C30 GG

Options :

383 cm
1.4

48.3 cm

L
o
L]
]
[y
=

22.5cm

Question Number : 103 Question Id : 4509387143 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
In case of diffraction, if “a’ 15 a slit width and A is the wavelength of the incident light. then the

required condition for diffraction to take place 1s
28 DSBS DTFENS @@ DO S, 1 DOF D ) o
SG0MTE50 D A0, D3G50 TODEH TR A

Options :

ﬂ—IDDO
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|
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2. ¥

a << A
3. %

a>A

Question Number : 104 Question Id : 4509387144 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The electric field intensity (E) at a distance of 3 m from a uniform long straight wire of lmear

charge density 0.2 pCm ™" is
D558 BN e F0ICS 02 pCmt o) SPEDS B 8 0k 3 m SrgodS
116 Doched O DS T (¢ Be35 (E)

Options :



1.2x 103 Vi1
1.4

0.6 X 10° Vm™1
2. ®

1.8 x 10° Vm™1
3. %

24%103 Vm?

Question Number : 105 Question Id : 4509387145 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

When a parallel plate capacitor is charged up to 95V, its capacitance is C. If a dielectric slab of

thickness 2 mm 15 inserted between plates and distance between the plates 1s increased by 1.6 mm

such that the same potential difference is mamntained. The dielectric constant of the material (slab)

18

2,8 AAP0SG 0¥ S0 &) 957 05 SFB0 TOSID TR TTFVBN) C.

TR H080 Hds 2mm H0B0 fe 28 5SE STTR) @B, Jede s
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Options :

2.4

4.5



5.0

9.0

Question Number : 106 Question Id : 4509387146 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The capacitance of an isolated sphere of radius ry 1s increased by 5 times. when it 1s enclosed by

an earthed concentric sphere of radius r,. The ratio of their radii 1s
r, XG0 o 28 Do Ao g Srsd r, asRrdo $O8, 2rans
DTN 5010 FF0S H0:S5980 TRaych 5 T DO, @ons

T8 FrT A

Options :
4
1.¢ >
5
4
2. %
B
3. % o
3
5



Question Number : 107 Question Id : 4509387147 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The charge ¢ (in coulomb) passing through a 10 Q resistor as a function of time t (in second) is

givenby ¢ = 3t% — 2t + 6. The potential difference across the ends of the resistor at time t = 5's

1S

100 A% TIo° (DSTotdS) NS s34 ¢ Gered &), F00 ¢t

(RE0DS) & q=3:2 -2t +6 T DSBS, 500 t=5s SO DFB¥0 Toch

D86 s FRVAHO B30
Options :

120V

240V

140V

280V

Question Number : 108 Question Id : 4509387148 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A cell of emf 1.2 V and internal resistance 2 () is connected in parallel to another cell of emf 1.5V
and mternal resistance 1 (. If the like poles of the cells are connected together, the emf of the

combination of the two cells 1s

emf 1.2V 50005 ©0681530 2.0 ) 2.8 08P emf 1.5V 805 906850
1010 DTS 0ETRS Aarodom SORR. Arére) 2ed ((Dareed SO, Bodk
NETO DOOST(I0 O} emf

Options :

- 0.8V

39N

2.7V

1.4V

Question Number : 109 Question Id : 4509387149 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A proton and an alpha particle moving with energies in the ratio 1: 4 enter a umform magnetic field

of 3T at right angles to the direction of magnetic field. The ratio of the magnetic forces acting on

the proton and the alpha particle is

$0 AN 1:4 & DN 2.8 (FErR HOO 2.8 ser) §00 a8 568
S0DR080 (0 3T SN eahA050 I A% oo (HSTHD.

76T SO0 ey $eTer 3 DR T 0 BODRTY 08 2ere) A )e

Options :



1:2

1.
2. % L
3. % e
4. % 13

Question Number : 110 Question Id : 4509387150 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A charged particle moving along a straight line path enters a uniform magnefic field of 4 mT at

right angles to the direction of the magnetic field. If the specific charge of the charged particle 1s

8 x 107Ckg ™2, the angular velocity of the particle in the magnetic field is

36% Bar SrG08 (HOPB) 28 89 8630 4mT BOD,06 F(B0 SR8
30006 3 (¢ BI85 OO0 D0, B3 §60 DFlR90 8 x 107Ckg™
008 0,06 3 |$0¢S §80 B, S Sifo

Options :

64 x 10*rads™1

32 x 10*rad s !
2.

16 x 10* rad s



48 x 10* rad s~

Question Number : 111 Question Id : 4509387151 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
At a place the horizontal component of earth’s magnetic field is 3 X 107° T and the magnetic

declination is 30°. A compass needle of magnetic moment 18 Am? pointing towards geographic

north at this place experiences a torque of

28 (IB90 8 2 s0hA06 T §8z darost @odo 3x107°T HBA
S0H06 B5)E0 30°. 18 Am? SOHL06 (27080 $ON, TV &S i
AP 28 B0rD iR & (NTH0S 9 T €rby

Options :

36 X 107° Nm

1. %

18 X 10™° Nm
2. W

54 X 10™° Nm
3_ W

27 X 107> Nm
4.

Question Number : 112 Question Id : 4509387152 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The current passing through a coil of 120 turns and inductance 40 mH 1s 30 mA. The magnetic
flux linked with the coil 1

(5850 40mH SO0 120 8D O 28 o D& o0 30mA IS
DSPOTRENNLD. B LHOE 20808 S0 06 DT

Options :

20 x 107 Wh
1. %

5% 107° Wb

12 x 107 Wb

10 x 107 Wb
4.

Question Number : 113 Question Id : 4509387153 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A resistor of resistance R. inductor of mductive reactance 2R and a capacitor of capacitive reactance

X, are connected in series to an a.c. source, If the series LCR circuit is in resonance, then the power

factor of the circuit and the value X, are respectively
QOGO R (o) 2.8 ABGEO, |88 5 BB 2R HOAKD § o6 § (HBBE0 X, ffer 2,8
Srand 3ES 28 ac. 89508 fodadaron. LR (38 S0aho adardod
GOT) OO RS SBE0 SHOAM Xe eNeen S

Options :

1. %



0.5 and 4R

0.5 DO 4R

1 and 2R

1 083 2R

0.5 and 2R

- 0.5 080 2R

1 and 4R

1 220805 4R

Question Number : 114 Question Id : 4509387154 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The rms value of the electric field of an electromagnetic wave emitted by a source is 660 NC™. The

average energy density of the electromagnetic wave 15

2.8 2380 GTO0DN DEVG0DRTL0eh B0 NS T(ed ms eNa) 660 NC.
AR08 eS0H0 BT Aifen 48 Aro(isd

Options :
L75 % 109

1. %

275 x 10 °fm
2. %



485 x 1076 ]m™3
3. %

3.85 X 107¢m™3
4.9

Question Number : 115 Question Id : 4509387155 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The maximum wavelength of light which causes photoelectric emission from a photosensitive

5 5 , y 1 Ay . .
metal surface 1s Ao. Two light beams of wavelengths ?ﬂ and ?O wmcident on the metal surface. The

ratio of the maximum velocities of the emitted photoelectrons 1s

28 S AR mrE Somy) $00 Hok a‘J*GS‘S DEOTE0 B8 oS KO

303850 o. e%orﬁwm = falny =2 %é')ﬁro BOch $08 Hore) S o)
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Options
1 % 34
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Question Number : 116 Question Id : 4509387156 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The electrostatic potential energy of the electron in an orbit of hydrogen 1s —6.8 eV. The speed of

the electron m this orbit 1s (C 1s speed of light n vacuum)

TPEES D570 2.8 EE SR 8 O[T R, V8 D W&z 38 —68eV. &
4S5 JOTS I (€ 19508 508 $G)

Options :
£
137
1. %
C
274
2.
2L
137
3. %
3C
137
4. %

Question Number : 117 Question Id : 4509387157 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The surface areas of two nucleit are in the ratio 9 ¢ 25. The mass numbers of the nuclei are in the

1atio

30 To|005°0) &80 Ferse) DS 9 ¢ 25. So|B5 (3503 0D A S



Options :

F7 2128
1.+

9: 25
2_33
3 % 315
4, % ek

Question Number : 118 Question Id : 4509387158 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Pure silicon at 300 K has equal electron and hole concentration of 1.5 X 10 m™. If the hole

3

concentration increases to 3 X 10% m™2, then electron concentration in the silicon is

300 K 98 591308 VOFR el BT HBA B0(¢ho mehed 1.5 x 106 m™
$OR G00. SoIre e & Ix 102 m3 % DoAB. VOFA S fo JOFTS ©

TChed

Options :

0.75 X 102 m—3
1. %

750 m~3
2 %

75 m—2



75 x10° m™3

Question Number : 119 Question Id : 4509387159 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Inn — p — ntransistor circuit, the collector current 1s 10 mA. If 95% of the electrons emitted reach

the collector. then the base current is nearly
28 n—p-n[EF)R0 $00008 DE6E DS 10 mA. G50 O[T oS 95%
V03N TOB, &3 DD DT

Options :

5.3 mA

53 mA

35 mA

0.53 mA

Question Number : 120 Question Id : 4509387160 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A transmitter of power 10 kW emuts radio waves of wavelength 500 m. The number of photons
emitted per second by the transmutter 1s of the order of

10kW 2Pe0050 B0 2.8 (r0e3 500 m SS0HT50 o) DARP SSomeh &b e

D08, [P0 28 VEHK GT00T HErde Hog By 1§0

Options :
103?
1.
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2.
10%°
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